(q)so0o-(e)soo xed seq 19 Iney IsTAIp uo sind o .
(q)urs (e)urs - (q)s0o*(e)s00 (rr)soo°()urs g = (b)urs + (d)urs

(q)urs*(e)so0d + (q)soo*(e)urs = (@re)ues (q)soo*(e)urs-g = (q-8)urs+(q+e)uts

.

(qQ)urs:(e)soo - (q)soo:(e)uis = (q-e)uis

(Q)urs:(8)sod + (q)soo (e)uts = (q+B)UuIs

z/(b-d) = q 30 g/(b+d) = e x8sod

(")urs (*)urs g- = (b)soo - (d)soo (***)s02°(***)s00°g = (b)soo + (d)soo

(qQ)urs:(e)urs g- = (q-8)soo-(q+e)sod (q)so0o:(e)so0d°'g = (q-e)soo+(q+e)sod

i ™)

(qQ)uis*(e)uis + (q)s0o°(8)s0d = (q-8)s09d

| (qQ)uis-(e)uis - (q)s09°(8)s09 = (q+8)s0d

o




